26 A SR T 7T H 4 Re [7 A % 5 o
7 F T & H B #E 17 =4 ! 2 3 4 5 6 | MS Hif - fTHTE
7 | REES wAE BEfAd 1A S 5| B 555E | EiE 5810 7 |EEkE 1 ME=Fmik
A REHELS 15:40~ 1 B |1EZET MEZET 1EZET BT S &% O A |EBRAFE 2 FERRIG IR
252 oA B [ HE S| Rk %] O 2; o 1]2)]3]4]5]6
(H) s ar | srn | en , (A) | 2%
15: 35K KA EE LD Y 3A | FEGE RIK ERE K| s BRE O iy
s OEEE 1A | BRIE | J55E | 505t | B0 | 80| ERIKE 1-3ME=Fhmy
23 AL 2 15:30~16:00 1 B [k [EFE EET VE2ET| Bl 8| 30 [(RERAT 2 FREG AR
i oA |gey W vE um |z gl | | T PN LSS
(%) sonpn| 3 A [ A dea i | i 5| vaer
HIRAETES BTN KERI AR 1A |EBE &l EiE # E| S ERKE 1.3 =FHE
2 4 | BRI BRASENER @K 1B |[#¥ &b EEE n & HE| S 31 [EBAY 2 FRkG R
| KR ®ES « FIUH - BT REEIERD s RV RO I 8] 1 2 3 4 5 6
@,—%z.{% (‘J% D @{E\%é\@) 2 A 9{‘;:% f%{z’g =] ;}% ?% %{E / L
OK) | EEEIARIE H . g | ey OK) |24
Lo BA|BOE LR ik K FE S o
HZEIR¥E ~8/23 1A BARE 2 FERG IR
25| 1« SFE=ZFHR 1B
H oA 1 1 2 3 4 5 6
HF) T2 AR BR A 5291 00~ H |14
OR) | BT B AR BR A F9:20~ 3 A (K) |2
RE:=
1« 3SE=FHEHR 1A HZRE 2 FEREG IR
26 1B 2 |mBLETREKRE
H oA H 112730456
14F
(%) | AE AR A 2850~ 3 A (&) |2
RE:=
27H 3 | 2 RS IR
(+) (+)
28 H 4
(H) (H)




